
1. Vypočítej řetězce
                               

16 -3 +1 +5 -6 +2 -6

18 -2 +3 +1 -7 +1 +3

10 +2 -5 +4 +2 -7 -2

2. Vypočítej slovní úlohu
Maxovi je 16 let. Toničce je o 4 roky méně.
Kolik roků je Toničce?
Znázornění:
Max ____________________________

Tonička __________________________

Výpočet:_____________________________________

Odpověď:____________________________________________

3. Počítej.      
                  
                    

                       

4. Piš příklady na sčítání a odčítání.
  

- = 12
+ = 9
+ = 17


